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void *tache1(void *args) {
int i=o;
while(i<100) {<=

i=i+1;

}
return NULL;
}
void *tache2(void =*args) {
int i=e;<—=
while(i<100) {
i=i+1;
}
return NULL;
}
void *tache3(void *args) {
int ize; <
while(i<100) {
i=i+1;
sleep(1);
I3
return NULL;

<= PC courant
<= PC sauvegardé

‘ préte ‘ élue ‘ bloquée

T1 X
T2 X
T3 X

Tache 1
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<= PC courant
<= PC sauvegardé

‘ préte ‘ élue ‘ bloquee

T1 X
T2 X
T3 X

Préemption de T1 par T2
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int i=o;
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void *tache1(void *args) {
int i=o;
while(i<100) {<=

i=i+1;

}
return NULL;
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void *tache2(void =*args) {
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void *tache1(void *args) {
int i=o;
while(i<100) {<=

i=i+1;

}
return NULL;
}
void *tache2(void =*args) {
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while(i<100) {
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}
return NULL;
}
void *tache3(void *args) {
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void *tache1(void *args) {
int i=o;
while(i<100) {<=

i=i+1;

}
return NULL;
}
void *tache2(void =*args) {
int i=o;
while(i<100) {
i=zi+1; <=
}
return NULL;
}
void *tache3(void *args) {
int i=o;
while(i<100) {
i=i+1;
sleep(1);<=
I3
return NULL;

<= PC courant
<= PC sauvegardé

‘ préte ‘ élue ‘ bloquée

T X
T2 X
13 X

T3 passe en attente
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void *tache1(void *args) {
int i=o;
while(i<100) {<
1=1+1; <= PC courant

}
} return NULL; <= PC sauvegardé

void *tache2(void =*args) {
int i=o;

while(i<100) { " - "
i=i+1; <= \ préte \ élue \ bloquée

}
return NULL; T X

} T2 | X

void *tache3(void *args) {

int i=o; 13 X

while(i<100) {
i=i+1;
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I3

return NULL; Préemption de T1 par T2
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void *tache1(void *args) {
int i=o;
while(i<100) {<=

Sl <= PC courant

}
return NULL;
}
void *tache2(void =*args) {
int i=o;
while(i<100) {<=

<= PC sauvegardé

i=i+1;

}

‘ préte ‘ élue ‘ bloquée

X

return NULL; T1
}

void *tache3(void *args) { T2

int i=o; T3

while(i<100) {
i=i+1;
sleep(1);<=

I3

return NULL;

1seconde s’est écoulée
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